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Chapter8-NETWORKS

A.Tickthecorrectoption.

1.FTPstandsfor____.

Ans.FileTransferProtocol

2.NICstandsfor____.

Ans.NetworkInterfaceCard

3.Inwhichtopologyallthenodesinthenetworkconnectedtoacentraldevicelikeahubor

switchwirecables?

Ans.StarTopology

4.SLAstandsfor____.

Ans.ServiceLevelAgreement

5.Whichofthefollowingisacomponentofwirednetworks?

Ans.Allofthese

B.Fillintheblanks.

1.ALANusesradiowavestoconnecttwodevicesoverashortdistance.

2.Campusareanetworkisatypeofnetworkthathelpstoconnectcomputerlocatedindifferent

buildingsinacampusarea.

3.Aprotocolisasetofrulesorguidelinesthatallowscomputerstocommunicatewitheach

other.

4.EthernetusersLinuxandUnixoperatingsystems.

5.UnshieldedtwistedpairtypesofwiresareoutdatedinLANs.

C.Statetrueorfalse.

1.Acomputernetworkdoesnotallowtosharehardwareorsoftwareresources.False

2.Datacanbetransmittedoveranetworkusingwiredorwirelessmedia.True

3.Inclient/servernetworkarchitecturethepowerfulCentralcomputeriscalledaworkstation.



True

4.AsapplicationsgrowstoragecapacityofRAM cannotbeincreased.False

5.OneDrive,PicasaandGoogleDocsareexampleofcloudstorage.True

E.Answerthefollowingquestions.

1.Definethefollowingterms.

I.Hubs-HubsareattachmentpointsinnetworkcablingofasingleEthernetNetworkandallow

networktobesharedbynodes.Thismeansallusersgetapercentageofthefullbandwidth.

II.Server-Aserverisapieceofcomputerhardwareorsoftwarethatprovidesfunctionalityto

otherprogramsordevices,calledclients.

III.WideAreaNetwork-Thisisourgeographicaladistributorprivatetelecommunication

networkprinterconnectmultiplelocalareanetworks.

IV.Modem -Amodem ispieceofequipmentthatconnectstwoormorecomputerstogetherby

meansofatelephonelinesothatinformationcangofrom onetotheother.

V.Topology-Topologyisthearrangementoftheelementslikelinksnodescablesextraofa

communicationnetwork.

2.Whatisthedifferencebetweenthickwireandthinwirecables?

Ans.Thickwire-Thiswirewithadiameterof0.4inches,thisisasinglecopperwirewithyou

thatmakesitinflexibleanddifficulttoworkwith.

Thinwire-Thiswirewithathicknessof0.2inches,thisisacoaxialcablewithdataspeedsof

upto10Mbps.Itflexibleandeasytouse.

3.WhatarethenetworkrequirementsforLinuxoperatingsystem?

Ans.1.HaveTCP/IPprotocolstackinstalled.Thesoftwareincludestheclients,likeFTPand

TELNETwhichwillneedtheTCP/IPnetwork.

2.ToconnecttotheEthernetTCP/IPLAN,youwillneedanEthernetcard.

4.ExplainthedifferencebetweenBusTopologyandStarTopology?

Ans.BusTopology-Nodesareconnectedinaseriestoabusoralongcable.Abreakinthe

cablecanbringdowntheentiresegmenttillthebusisrepaired.

StarTopology-Allthenodesinthenetworkareconnectedtoacentraldevicelikehubora

switchviacables.Thistopologyisthemostpreferredandpopularmodel.



5.Whatdoesthenetworkhardwarecompriseof?

Ans.Thenetworkhardwarecomprisesof-NetworkInterfaceCard,Hubs,Repeaters,Bridges,

Switches

6.WhatisthedifferencebetweenPANandLAN?

Ans.PAN-APANisacomputernetworkforinterconnectingdevicescenteredonanindividual

person'sworkspace.

LAN-Itisagroupofcomputersandperipheraldevicesthatshareacommoncommunications

lineorwirelesslinktoaserverwithinadistinctgeographicarea.

7.Whatisawirelessnetwork?Whatareit'stypes?

Ans.Itisanetworkwheretwoormorecomputerscommunicateusingwirelesscommunication

protocols.

Therearetwotypesofwirelessnetwork.

1.Peer-to-peernetwork

2.Basestationasaccesspoint

8.Whatiscloudcomputing?Explainanytwoofitsadvantages.

Ans.Cloudcomputingallowscustomerstousesharedhardwareandsoftwareresourceson

theircomputerwithoutsettinguptheirownindividualnetworks.

Advantages-1.Quickandstreamlinedaccesstoresources.

2.ItiscosteffectivesinceiteliminatestheneedforownITsetup.
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